Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69

kek030511:GE105

window= 1

GL-UD:030511; 1-69

amp=1.38E-07 >
amp=1.77E-07 >

amp=<2.97E—-07 >0.1Hz

T T TTTH

10Hz 1
1Hz |

101

100 10!

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek030511:GE105 window= 1

I I [ IIII| I I [ IIII| I I [ IIII| I I T IIII:

- GL—NS:030511; 1-69 —
2 amp=1.66E-07 f> 10Hz"
- amp=<.27E-07 f> 1Hz |
) amp=3.61E-07 £>0.1Hz -

| | [ IIII| | | [ IIII| | | [ IIII| | | L1 IIII_
101 100 10l 107

Frequency (Hz)

102

106

108

10~ 9

10— 10

10— 11

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69

kek030511:GE105

I I ||||||| I I ||||||| I I ||||||| I I ||||||:
GL-EW:030511; 1-69 —
amp=2.02E—-07 f> 10Hz1

- amp=<.32E—-07 > 1Hz |
amp=4.41E-07 £>0.1Hz :

| | IIIIII| | | IIIIII| | | IIIIII| | | IIIII_
10-1 109 101 10

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

Frequency (Hz)

nseg= 69 kek030511:GE105 window= 1
I I I IIIII| I I I IIIII| I I I IIIII| I I I IIIII:
UG—-UD:030511; 1-69 —
amp=3.31E-09 f> 10Hz"

- amp=<.42E-08 f> 1Hz |
amp=8.61E—-08 {>0.1Hz -

| | | IIIII| | | | IIIII| | | | IIIII| | | \\\IIII_
101 100 10l 107

102

106

10— 10

10— 11

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

10— 18

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek030511:GE105 window= 1

I I I T TTT || I I I T TTT || I I I T T TT || I I I T T T I:
UG—NS:030511; 1-69 —
amp=4.23E—-09 f> 10Hz1

- amp=1.69E-08 f> 1Hz |
RN amp=1.92E-07 £>0.1Hz :

| | I | I| | | I | I| | | I | I| | | [ \\\I | I_
101 100 10l 107

Frequency (Hz)

102

106

10— 10

10— 11

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap=

nseg= 69 kek030511:GE105

0.75

window= 1

UG—EW:030011,;

1-69

amp= 168E 08 > 1Hz |
amp=1.7/E—-07 f>0.1Hz

101 100 10!

Frequency (Hz)

10

106

Integrated Amplitude (m)



GE105.001
GE105.004

Coherence

1.0

0.8

0.6

0.4

0.2

0.0

data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
UD :kek030511:GE105

i

101 100 10! 10%

Frequency (Hz)



GE105.002
GE105.005

Coherence

1.0

0.8

0.6

0.4

0.2

0.0

data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
NS :kek030511:GE105

101 100 10! 10%

Frequency (Hz)



GE105.003
GE105.006

Coherence

1.0

0.8

0.6

0.4

0.2

0.0

data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
EW kek030511:GE105

L

101 100 10! 10°

Frequency (Hz)



GE105.001
GE105.004

1.0

©
o

Correlation
(@)
o

—0.5

—-1.0

UD :kek030511:GE105

data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec

101

100 10!

Frequency (Hz)

10%



GE105002 data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
GE105.005 NS :kek030511:GE105

1.0

—
o

=i | | | | | | | | |

Correlation

—0.5

—-1.0

O
-
|||||||||||||||||||||||

101 100 10! 10%

Frequency (Hz)



GE105OOS data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
GE105.006 EW :kek030511:GE105

1.0

—
o

—= | | | | | | | | |

Correlation

—-0.5

—-1.0

O
-
|||||||||||||||||||||||

101 100 10! 10%

Frequency (Hz)



Ratio

10<

101

100

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69

GE105

‘UD:GL,/UD

T TTTH

101

100 10!

Frequency (Hz)

10%



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69 UD :kek030511:GE105

I IIIIIII| I IIIIIII| I IIIIIII| I T T TTTH

- GE105.001 ; 1— 0

amp=1.38E—07 f> 10Hz 1
amp=1.77E-07 > 1Hz |
amp=<2.97E—-07 f>0.1Hz

. rgain= 1.
Noise Int.Amp.

- amp=1.30E-07 > 10Hz
 amp=1.61E-07 > 1Hz
amp=2.38E—-07 f>0.1Hz

’IIII | IIIIII|

101 100 10! 10%

Frequency (Hz)

10— 10

10— 11

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 UD :kek030511:GE105
I I [ IIII| I I [ IIII| I I [ IIII| I I [ IIII:
- Gk105.004 ; 1— O —
R amp=3.31E—-09 f> 10Hz"
- amp=<.42E-08 f> 1Hz |
. amp=8.61E—-08 >0.1Hz -
. rgain= 1. §
Noise Int.Amp. .
- amp=3.10E—-09 > 10Hz BE
 amp=1.64E-08 > 1Hz .
amp=0.92E-08 f>0.1Hz | oA
101 109 10! 102

Frequency (Hz)

Integrated Amplitude (m)



Ratio

10<

101

100

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69

GE105

‘NS:GL/UD

L1 L 1IIT]

101

100 10!

Frequency (Hz)

10%



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69 NS :kek030511:GE105

Frequency (Hz)

I I T III| I I T III| I I T III| I I T III:

- GE105.002 ; 1— 0O —
R amp=1.66E—-07 f> 10Hz1
IS amp=<.27E-07 f> 1Hz |
TR amp=3.61E-07 £>0.1Hz -

N f "‘WN‘#»‘ * \\ ;
. rgain= 1. \\ §
Noise Int.Amp. N

- amp=1.56E-07 f> 10Hz \\_g
- amp=2.09E-07 > 1Hz '
amp=2.62E—-07 >0.1Hz | -
10~ 1 109 101 10

10

106

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75
:kek030511:GE105

nseg= 69 NS

I I T IIII| I I T IIII| I I T IIII| I I T IIII:

- GE105.006 ; 1—- 0O —
R amp=4.23E—-09 f> 10Hz"
- amp=1.69E-08 f> 1Hz |
IR amp=1.92E—-07 f>0.1Hz 3

- - --I::::::: :\:t _g
. rgain= 1. %
Noise Int.Amp. .

- amp=3.97E-09 > 10Hz BE
 amp=1.35E-08 > 1Hz N
amp=7.82E-08 f>0.1Hz | \.\ ]
10-1 109 101 107

Frequency (Hz)

Integrated Amplitude (m)



Ratio

10<

101

100

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69

GE105

EW:GL/UD

T TTTH

101

100 10!

Frequency (Hz)

10%



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 EW :kek030511:GE105
I I [ ||||| I I [ ||||| I I [ ||||| I I T ||||:
- GE105.003 ; 1— 0O —
S amp=2.02E—-07 f> 10Hz-
T amp=2.32E-07 > 1Hz
n amp=4.41E-07 £>0.1Hz -
- s
. rgain= 1. \\ %
Noise Int.Amp. ’\\ -
- amp=1.90E-07 > 10Hz NE
amp=2.14E-07 > 1Hz .
amp=3.48E-07 £>0.1Hz | -
10-1 109 101 10

Frequency (Hz)

10

106

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 360600 overlap=

nseg= 69

0.75

EW kek030511:GE105

GE105.006

1-— 0

amp= 168E 08 > 1Hz |
amp=1.7/E—-07 f>0.1Hz

| rgain=

1.

Noise Int.Amp.

- amp=4.81E-09 > 10Hz
 amp=1.40E-08 > 1Hz
amp=8.26E-08 f>0.1Hz

101 100 10!

Frequency (Hz)

102

106

Integrated Amplitude (m)



HV Ratio

12.5

10.0

)

0.0

2.5

0.0

data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69

kek030511:GE105

window= 1

Amplitude Ratio:GL

10~ 1

109 101 107

Frequency (Hz)



HV Ratio

15

10

data; seg= 8192 tot= 360600 overlap=
kek030511:GE105

nseg= 69

0.75

window= 1

- Amplitude Ratio:UG

101

100 10!

Frequency (Hz)

10%



